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Fill in the missing operations to complete 
this equation:

34  ____  17 ____ 31 = 33

Circle the digit in the tenths place.

33.98

96 ÷ 8 =  

How many feet are in 8 yards?

 feet 5 x 8 =  
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0 . 8
- 0 . 5 7

0.87 + 6.3 =
0 . 4
0 . 2

+ 0 . 8

N
30

 = 50 N
11

 = 6 90
N

 = 10

4 9
+ 5 8

7 8 6 3 8,
- 3 3 5 2 4,

2 + 1 + 7 + 4 = 

What kind of angle is this? What kind of angle is this?

An angle measures 75o.

What would you call this 

angle?

Sketch a right angle named 
CDE.

Sketch an acute angle 
named FGH.
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2 4
x 1 8

4 3
x 1 5

Multiply 212 and 6.

Write as a decimal.
Twelve and thirty-seven 
hundredths

Write as a decimal.
Two hundredths

Write as a decimal.
Ten and three tenths

7  -  1
2

 + 5
11

 = 9  +  3
4

 - 6
7

 = Reduce 39
45

 to its lowest 

terms.

5 . 0
x 8 0

3 . 9
x 4

Change 5
20

 to a 

decimal.

Write the reciprocal.

3
1

Write the reciprocal.

2
3

Write the reciprocal.

3
11
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Mr. Hernandez, a 
peanut farmer, has one 
hundred nineteen rows 
of peanut plants. If 
there are twenty-seven 
plants in each row, how 
many peanut plants 
does he have?

The average person in 
the United States 
consumes 4.8 kg of 
chocolate every year. 
Jason eats 2 oz of 
chocolate every day. 
How many more 
pounds of chocolate 
per year does Jason 
eat than the average? 
(1 kg = 2.2 lb)

Anna bought 4 pieces 
of framing to make a 
frame for a picture of 
her great grandmother 
taken at Ellis Island. The 
wood cost a total of 
$12.70. If two of the 
pieces together cost 
$4.30, and each of the 
other 2 pieces had the 
same cost, how much 
was each remaining 
piece?

April rolls two dice.  She adds the 
numbers on the two dice.  What is 
the chance of this sum being six?

1 km = 1,000 m

12 km = m
3 1

+ 2 5

Can 616 be evenly divided by 7? Circle:
616 is evenly divisible by 7
616 is NOT evenly divisible by 7

Rosa rolls two dice.  What is 
the chance of her rolling a 6 
on one die and a 2 on the 
other die?
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

465 + 266 =  

Mary makes a basket for every four 
attempts that she makes.  April needs five 
attempts to make a basket.  Each basket is 
worth 2 points.  If they each make 60 
attempts, then what is the score?96 ÷ 8 =  

8 x 3 =  

2 9
- 1 5
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30 ÷ 5 = 23 lb = oz 90 ÷ 9 = 5 9 7
- 1 7 9

84,843 + 17,446 =  

In the number 4,921,506, the digit 5 is in 
what place?

90 ÷ 9 =  

Make a decimal number.  Start with a zero and a 
decimal point.  Then use these numbers: 1, 3, 1, 8,  
and 6.  Make three different decimal numbers. Put 
your theee decimal numbers in order from largest 
to smallest.

3 3 5
+ 4 7 4

5,934 + 6,237 =  11 x 3 = 

Here is a pattern of letters:

     A A R A P A A R A P A A R A P A A R A 
P . . .

What letter will be the 31th term in the 
pattern?

12 x 9 =  49 ÷ 7 =  

11 x 5 = 

3 x 2 =  
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4 6 = 8 6 7 8 5 = 4 4 6 4 4 0 +
3 = 3

Use the pieces above to help you fill in the runaway math puzzle.

Write 88,333 in words.

4 x 5 =  

10 x 11 = 
For 178,781,521, write the digit 
that is in the hundred 
thousands place.

728 - 324 =  77 ÷ 7 =  

7,629 - 2,974 =  2,296 + 4,174 =  

What time is 16 hours after 
5:00 p.m.?

1

7 - 2 = 9 -

-

0 0

6 + 5 1 1 = +

4

8 + 0 = 1 3 - 9 = 9 -

3 + + 0 6 5

=

7 = +

2 8 -

0 + = 4

1 1

https://www.mathworksheets.com


Name:
Week of August 31
MathWorksheets.com

Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

|-13| - v = 11

v =

What is the greatest 
common factor of the 
numbers 65 and 117?

Use >, <, or = to complete.

22%    1
7

1
6

    16%

3
6

    88%

528 ÷ 10 10 + 3 ÷ 1
15,  17,  19,  21,  ,   25

What is the mode of the 
following number set?

25, 35, 20, 30, 39, 34, 38, 24, 
28, 36, 32, 37, 18

The unknown value x is a 
multiple of 5, is greater 
than 131, and it is divisible by 
16.  What can be the lowest 
possible value of x?

The letter p is used to 
represent power points in 
a game, which can range 
from 337 to 766 points.  
Express this as an inequality.

16.4247 x 104 = 7 x 7 = 7x

What is the value of x?

2 x (30 ÷ 3) - 33 ÷ 11 = 
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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
190.1
is the sum

1

hundredth

4

tens

6

tens

9

tens

190.4
is the sum

6

tens

9

tens

4

tenths

190.4
is the sum

9

tens

4

tenths

4

tens

Example:
0.1 + 40 + 60 + 90 = 190.1

Example:
60 + 90 + 0.4 + 40 = 190.4

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 4 tenths, 5 tenths,  or 1 

hundredth.

The other three numbers have to all be DIFFERENT and must be from these: 6 tens, 5 tens, 9 tens, 

 or 4 tens.

180.15

tens

1

hundredth

4

tens

9

tens

200.1
tens

tens

4

tenths

4

tens

190.4 6

tens

4

tenths

tens

180.54

tens tenths

200.5
tens

9

tens

hundredth

9

tens

5

tens

9

tens
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 9 tens, 7 tens,  or 2 tens.

The other three numbers have to all be DIFFERENT and must be from these: 3 tenths, 8 tenths, 9 

tenths,  or 1 hundredth.

21.21

hundredth

8

tenths

2

tens

3

tenths

hundredth

9

tenths

2

tens

21.2
tenths

tenths

21.8
tenths

9

tenths

hundredth

92
tens

21.8
tenths

hundredth

92
tens

91.8
tenths

229

tenths

tenths

21.2

tenths

71.8
hundredth

tens

91.8
tens

tenths

91.2
hundredth tens

91.2

tenths

tenths

tenths

tens

36,521 - 35,524 =  
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Letters Kissing
Each uppercase letter needs to kiss the same letter but in lowercase.

Draw a line that connects one letter to one other letter to kiss.  Draw your lines over the trace lines.  No 
lines may cross.  Once you draw a line to a letter, that letter cannot be used again.

One complete line has already been drawn for you.  

b B

H

h

a

A

R

r
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